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And did X''9 say this; but X''1 said, etc.

OVERVIEW

The &3 asks; how can X'"1 rule that if he claims *nX¥» 709 10D he is believed, and
she becomes 70X to him (if there is only one ?90), when X" ruled elsewhere that
a woman cannot become 77%¥2% 710K, only in restricted circumstances (of "1p
77°N0), etc. MoOIN discusses the viewpoint of this questioner (the 7wpn).

MooIN asks:
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It is astounding! Now that this jwp» wants to assert that the husband is not
believed, even to ‘make her a forbidden object to him’, therefore -
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This mwn, which states that one who says to a woman, ‘I betrothed you’, is
forbidden to her relatives; this 71w» contradicts him.’

N1B0IN answers:
- S223wn MND “MYaw 937 PRT YUPNRY 7YY XIPADT 1Y YN

And one can say; that the jwpn» assumed that no m9waw 937 is effective with

less than two witnesses -
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' The believability that X" grants to his claim of mna rino is limited to the prohibition which he is placing on himself

(but not that we actually believe him to deny her 772105 payments, for instance). It is generally accepted that if a

person claims that (on account circumstances known to him) a certain item is prohibited to him, he is prohibited

from it. This is called XM0°X7 XN PWHIR 71MW. A classic example is the 71wn (mentioned in our X7»3) which msoIn

cites immediately. He is forbidden to her relatives not because we know that he was w7pn this woman, but merely

since he said he was w7pn her, so automatically he was XM0°X7 X2°ni iPWwoIR 1Y to all her relatives.

2 A man is forbidden from his wife’s relatives; i.e. her mother, sister, or daughter, etc.

? The question is that just as (according to the Jwpn) his wife should not be 70 to him since there were no o*7v that

she was 7311 (as there is by 777°n01 M3p), similarly (in the 71wn) there were no 0°7¥ that he was w7pn this woman; why

is he °M2172 MoK It cannot be on account of his admission that he was w7pn her, for here too we are not accepting

his admission that *nX¥» mns 1.

* A mAwaw 127 (literally of an immoral nature) refers to illicit relationships, marriages and divorces.

> One cannot marry or divorce unless there are two witnesses present. Similarly one cannot be punished for illicit

relationships unless two witnesses testify to that effect. [We derive this from the 0°p109 of 127 M7y 72 X¥»1 °2 (in

X,72 [X¥n] 2°127) and (in W, [2°woW] £°727) that 127 2P "N D7V "W °0 HY; this MW 77773 of 27 127, teaches us that

"2 NS MAYAY 1237 PR.]

® There was no meaningful act (of nir), with halachic consequences (according to the jwpn), since 2>7v did not

observe it; just as there can be no meaningful act of Pw171"3 PW1TP unless witnesses observe it. See ‘Thinking it
1
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So therefore (this jwpn assumed) even if a person saw that his wife was 1,
however if there were no witnesses there to observe this N1, she would not be
prohibited to him (since 'an mmo mawaw 127 X))’ -
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So therefore there is no difficulty at all from the mwn (which states that he is

7°N1217P2 TOR) since when he said, ‘I was wTpn you’ he meant with witnesses;

Mmoo proves that he meant with witnesses -
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For if one is w7p» even with one 7y; his 1217 are inconsequential (and certainly
if there were no 20°7¥), so obviously when he said 7°nw7p he meant with 27y -
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However regarding that which R''9 said that he is believed to claim that he

found a mnp nne, even without 2%7y; the 7wpn asks correctly (that a woman is not
m9v3a Y 70K, unless there is 0°7¥2 77°N0Y M3P), given his assumption that M MAYaw 927 PR
1w applies even to RO RT R’ NA 7OWOHIR 77N,

SUMMARY
The wpn assumed that 2°1wn NS MIVAY 727 X applies even to cases where 7MY
XTI0°RT R2O°N7 7PWOIN.

THINKING IT OVER

mooIn answered that the 7Wpn assumed that since '272 NINS MAYaw 27 PR, therefore
there can be no X1O°RT 82NN PwoHIR TN (without 0>7).'° The Xnx answered that
X'"7 maintains (not like the jwpn) that there can be XMDXT XD°NA PWHIR NW
without 2>7¥. Why then does the X723 ask 5"np °Xn on X"9, when he is teaching us
and rejecting the Twpni n120?!"!

over’.
7 The jwpn agrees to the concept of XMORT X2 NA 7°woIR MY generally, however when it comes to a MAyaw 927, the
2027 N1 of 27w NS MAYAw 127 X supersedes the concept of X10°KT XN PWHIR MW
¥ There were 07y by this Pw1Tp (however they are not present now); therefore his admission of 7w has its obvious
consequence that he is 7°nN1217772 7OK.
? He would not be 7°M1217P2 70K,
1 See footnote # 6.
' See [xa] X",
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